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Logical Reasoning

1. Which of the following is true about a triangular prism?

A. It has 2 triangular faces.

B. It has 3 rectangular faces.

C. It has 6 vertices.

D. All of these

Answer: D



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bukz2Htcxo4w

| o Watch Video Solution

Mathematical Reasoning

1. Simplify:

(242 +32+4) 0 5 (B+28+38+4)° (2248 -5x2)°°

A.52
B. 20
C.13

D.30

Answer: D

o Watch Video Solution

1v/0.01 + 1/0.0064 ;

2. The value of 00l <03 s .



https://dl.doubtnut.com/l/_bukz2Htcxo4w
https://dl.doubtnut.com/l/_h6iA4VFvqbXt
https://dl.doubtnut.com/l/_rbBGJLL5EZ8U

Al

B.10

C.100

D. 1000

Answer: C

° Watch Video Solution

3. If z2+44y®>=47 and
2 2.
Az +y)" +(z—y)is
A. 160
B. 270
C. 226

D. 86

Answer: A
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o Watch Video Solution

3y — 2 2y + 3 2

4. Solve for y: — = — —q.
olve for y 1 3 3 Y

23

A —
13

49
B.1—
65

1
" 65

D.3

Answer: B

o Watch Video Solution

5. In the given figure, EB is the diagonal of square EDBA. Find ZCEF

and ZECD respectively.


https://dl.doubtnut.com/l/_NNGT8XY5go1k
https://dl.doubtnut.com/l/_rntWwn0vsGjj
https://dl.doubtnut.com/l/_LgjeIhsqMbS1

63°

A.22°,60°

B.22°, 64°

C.19°, 64°

D.19°,60°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LgjeIhsqMbS1
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1 1
6.1f 22 + — = 16, then find the value of x + et
T

A.4/3

B.24/3
C.3v2
D.3/3

Answer: C

o Watch Video Solution

7.1f (t+2) units and (t2 + 4) units are length and breadth of a rectangle
respectively, then find its area (in sq. units).

Atd + 2% + 4t + 8

B.t3 4+t + 4t +8

Ct®+8

D.t3 + >+ 4+ 8t


https://dl.doubtnut.com/l/_X15lV8xbjQCY
https://dl.doubtnut.com/l/_VFFEmiS8yIU6

Answer: A

° Watch Video Solution

8.Using Euler's formula, find the value of P, Q and R respectively.
Faces : P, 5,20
Vertices : 6,Q, 12
Edges:12,9,R
A.7,5,25
B. 8§, 6,30
C. 12,9, 21

D. 20, 2,18

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VFFEmiS8yIU6
https://dl.doubtnut.com/l/_XxZexlgls0Db

9.If 31y5 is divisible by 15, where y is a single digit, then what would be

the values of y?

A1,2,58
B.O,3,6,9
C.2,4,6,8

D.4,3,8,7

Answer: B

o Watch Video Solution

10. In the given parallelogram XYZW, find the values of x, y and z

respectively.


https://dl.doubtnut.com/l/_JXjVHv9xytIq
https://dl.doubtnut.com/l/_T2kilN5SDb3l

A.102°,28°, 28°

B.28°,102°, 28°

C.28°,102°,102°

D.102°,28°,102°

Answer: B

o Watch Video Solution

1. The given pie chart shows the marks scored by a student in an

examination in 5 different subjects.


https://dl.doubtnut.com/l/_T2kilN5SDb3l
https://dl.doubtnut.com/l/_nuFi4OPZxnVE

Social Science
Mathematics

English w - Scicace

Hindi If the total marks obtained by the students were 1080, then find
the marks obtained by him in Mathematics and Hindi together.

A. 280

B. 840

C. 480

D. 490

Answer: C

o Watch Video Solution

12. The given bar graph represents sales of two wheelers and four

wheelers in a city from 2008 to 2011.


https://dl.doubtnut.com/l/_nuFi4OPZxnVE
https://dl.doubtnut.com/l/_llXtjwbW1O25
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Two wheelers Four wheelers Difference between the number of vehicles

(two wheelers and four wheelers) sold during 2008 to 2011 is

A. 2610

B. 2850

C. 1305

D. 1950

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_llXtjwbW1O25

13. Find the values of A and B respectively.
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A.6,5

B.5,6

C.4,5

D. 2,6

Answer: B


https://dl.doubtnut.com/l/_9piDKZM82np9

o Watch Video Solution

14.In the figure, ABCD is a rectangle. BD = BE, /ZBED = 40° and reflex

/EDA = 260°.Find ZCDB.

260° E

A.10°
B.20°
C.30°

D.40°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9piDKZM82np9
https://dl.doubtnut.com/l/_19AYX23k4Gzh

15. Which of the following statement is INCORRECT?

A. Diagonals divide the parallelogram into two congruent triangles.
B. Every square is a rhombus.
C. All parallelograms are trapeziums.

D. All rectangles are squares.

Answer: D

° Watch Video Solution

16. If a property holds for whole numbers, then it also holds for

A. Rational numbers
B. Natural numbers
C. Integers

D.Both Aand C


https://dl.doubtnut.com/l/_DpQ7ViKcUzje
https://dl.doubtnut.com/l/_Oh16zZwYvq6a

Answer: D

O Watch Video Solution

17. A rectangular water reservoir contains 42000 litres of water. If the
length of reservoir is 6 m and its breadth is 3.5 m. The depth of the
reservoir is

A5m

B.2m

C.ébm

D.8m

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Oh16zZwYvq6a
https://dl.doubtnut.com/l/_5lwBtM6PNagU

18. A can complete a work in 10 days and B can complete the same work

in 15 days. In how many days they together will do the same work?

A. 5 days

B. 6 days

C.8 days

D. 9 days

Answer: B

o Watch Video Solution

19. Which of the following statements is INCORRECT?

A. A unique quadrilateral can be constructed, if the length of its 4

sides and a diagonal is given.


https://dl.doubtnut.com/l/_gLYrd8VepNt9
https://dl.doubtnut.com/l/_Ny77jkmeYhtZ

B. A unique quadrilateral can be constructed, if its 2 diagonals and 2
sides are given.

C. A unique quadrilateral can be constructed, if its three sides and
its two included angles are given.

D.Both Aand C

Answer: B

o Watch Video Solution

Everyday Mathematics

1. Mohit is 20 years younger than his father. Three years ago, Mohit's
age was one-sixth the age of his father, then find the present age of

Mohit.

A.7 years


https://dl.doubtnut.com/l/_Ny77jkmeYhtZ
https://dl.doubtnut.com/l/_XmVKYfqND3Fa

B. 6 years

C. 8 years

D. 4 years

Answer: A

o Watch Video Solution

2.In an examination, 35% of the students passed and 455 failed. How

many students appeared for the examination?

A.1440

B. 700

C. 845

D. 1300

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_XmVKYfqND3Fa
https://dl.doubtnut.com/l/_0h5W37DkIhF0

3. Salaries of Ankit and Ansh are in the ratio 2:3. If the salary of each is
increased by Rs.4000, the new ratio becomes 40 : 57. What is Ansh's
present salary?

A. Rs.17,000

B. Rs.20,000

C. Rs.25,500

D. Rs.34,000

Answer: D

o Watch Video Solution

4. Renuka borrowed Rs.15,000 from Vipul at 5% per annum at simple
interest for 3 years. If she had borrowed this sum at same rate and time

at compound interest, then what extra amount would she has to pay?


https://dl.doubtnut.com/l/_0h5W37DkIhF0
https://dl.doubtnut.com/l/_8Tlpb3FjNGyb
https://dl.doubtnut.com/l/_7iEbFIhQdcBD

A.Rs.114.38

B. Rs.1483

C.Rs.483.20

D. Rs.43.20

Answer: A

o Watch Video Solution

5.The length of a rectangular plot is 10 metres more than its breadth. If

the cost of fencing the plot at Rs.13.25 per metre is Rs.5300, then find

the length of the plot.

A.140m

B.150 m

C.105m

D.60 m


https://dl.doubtnut.com/l/_7iEbFIhQdcBD
https://dl.doubtnut.com/l/_o1xhsemLAouK

Answer: C

° Watch Video Solution

2 3
6. The cost of 73 metres of ribbon is Rs. 12§., find its cost per metre..

A. Rs.2.67
B. Rs.1.67
C.Rs.2.05

D. Rs.1.04

Answer: B

o Watch Video Solution

7. A shopkeeper offers 2.5% discount on cash purchases What cash
amount would Rohan pay for a cycle, the marked price of which is

Rs.6507


https://dl.doubtnut.com/l/_o1xhsemLAouK
https://dl.doubtnut.com/l/_NAgd3f6shJvS
https://dl.doubtnut.com/l/_N75Vu6HUvIN1

A.Rs.631.25

B. Rs.633.75

C.Rs.632

D. Rs.635

Answer: B

° Watch Video Solution

8. 15 litres of mixture contains 20% alcohol and the rest of water. If 3
litres of water be mixed with it, the percentage of alcohol in the new
mixture would be :
A.15 %
2
B. 165 %
C.17%

1
18—
D82%


https://dl.doubtnut.com/l/_N75Vu6HUvIN1
https://dl.doubtnut.com/l/_3AglLjuQDmRP

Answer: B

O Watch Video Solution

9. A PT. teacher asks 20736 students to stand in such a way that there

are as many rows as there are students in each row. Find the number of
rows.

A. 124

B. 126

C.134

D.144

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3AglLjuQDmRP
https://dl.doubtnut.com/l/_9tjbOOgMLNe4

10. Pluto is 59, 1,30,00,000m from the sun. Express this in the standard

form.

A 5.913 x 10~ 1!

B.5.913 x 10~?

C.5.913 x 10°

D.5.913 x 10°

Answer: D

o Watch Video Solution

Achievers Section

1. Statement-1 : Absolute value of non-zero rational number is always

positive.


https://dl.doubtnut.com/l/_YQUiq3R0rt31
https://dl.doubtnut.com/l/_OKFYoEf2DEvf

Statement-2 : Addition and multiplication are commutative for rational

numbers.

A. Both Statement-1 and Statement-2 are true.

B. Statement-1 is true and Statement-2 is false.

C. Statement-1 is false and Statement-2 is true.

D. Both Statement-1 and Statement-2 are false.

Answer: A

o Watch Video Solution

2.The given pie chart shows the number of students who likes different
subjects. If a student is selected at random, then which of the following

option is correct?


https://dl.doubtnut.com/l/_OKFYoEf2DEvf
https://dl.doubtnut.com/l/_GK93qYgGOJPj
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Total number of students = 1440

7
A. Probability of selecting a student who like Hindi is less than 29

B. Probability of selecting a student who like Science is more than

11
36

C. Probability of selecting a student who like Computers is more

th .
an -

D. Probability of selecting a student who like English lies between O

d1
and .

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GK93qYgGOJPj

3.The given question is followed by three statements to decide whether
the question can be answered with any one or two of the statements or
all the three statements are required to answer the question. The
answer number bearing the statements, which can be dispensed with, if
any, while answering the question is your answer.

Mr Gupta borrowed a sum of money on compound interest. What will
be the amount to be repaid, if he is repaying the entire amount at the
end of 2 years?

l. The rate of interest is 5% p.a.

Il. Simple interest fetched on the same amount in one year is Rs.600.

[1l. The amount borrowed is 10 times the simple interest in 2 years.

A.lonly

B. Il only

C.lor Il only

D.lor lll only


https://dl.doubtnut.com/l/_GK93qYgGOJPj
https://dl.doubtnut.com/l/_BwHkzuIFkqd3

Answer: D

° Watch Video Solution

4.Fill in the blanks:
An P is an equality, which is true for all values of the variables in the
equality. An @ is not an identity () are formed from variables and
constants.

A. P - Identity, Q - equation , R- expressions ,

B. P - Equation ,Q - identity , R-expressions ,

C. P - Identity ,Q - expression , R-equations,

D. P - Equation ,Q - expression , R-identities ,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BwHkzuIFkqd3
https://dl.doubtnut.com/l/_HwGzIjfIGpwG

5.Select the correct match of the numbers given in Column-l with their

cube roots given in Column-il.

Calumn-1 Column-11
(1) B I5T | A
(i) 128509 |
(i) 157911 B 93
{iv) | 48877 5 1

A (i) — S, (ii) — R, (iit) — Q, (iv) — P
B.(i) — R, (i) — Q, (#i3) — P, (iv) —» S
C.(3) — S, (it) — P, (iii) — Q, (iv) > R

D. (i) — R, (it) — P, (1ii) — Q, (iv) — S

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Fn284dWCFjZe

